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If so; why four, there are only three — 7 whY AYaaN 997 OR

OVERVIEW

There is a dispute how to interpret the phrase ;717 8?1 7717 X2 in the Xn*>72 (where the
ruling is 2™ ¥ 21 and 1" for 17p). According to PX1W it means that only the P12
had permission to be there (this &9°0 follows the ruling of the 31127 [not v"7)).
However X1°27 maintains that the X5°0 (follows the view of ©v"9 and) is discussing a
case where it was DMWY 719 K91 719 89 and 777 Mo, The X3 asks that according
to X1°27 there are only three cases in the Xn>72; not four. N1vOIN will explain why
this question is only on X1°27 and not on X1w.”

- 1929 NOYD) 11990 229 XY 71171 INmMYY Xnbwa
It is fitting according to ®X1»w, who establishes the Xw1 of the xn>12 according

to ¥'"M and the X2 according to the 1137; it is therefore fitting to mention in the Xn>2 all

four cases, for -
= 19990 %2910 YPIAND 1IIMNYND NOYD TIIVSN

The x990 (of 15 K91 719 &Y)” is necessary to teach us an alternate view; to exclude

from the view of B""2;* that is why there is no difficulty according to yxmw.
- 955 N8 NY N2 NON

However according to NX1°29 who maintains that the entire Xn»72 follows the

opinion of ©"1, the fourth case was not at all necessary -
= PINIY MY XINY D91 199910V PI9IN 98N 1N )Y 22)51

For concerning 2 (where only the 13 has m7°9% mwA) that it is a pran 93n (and
the P11 pays a ¥"1) we know that from the first case in the ¥n»92 where it states

that P>1% X921 "praa® nws R 90" he is 92270 -
:NYPANY POMYN 8NN PI¥NRY ‘D3390 MY 19P)

And concerning 199 (where both 2°71% have no permission to be in the azrm),” that

' See previous X7 71"7 mooMN.

? Seemingly the X032 is even more difficult according to 7Xmw; for in s™>XmW interpretation, the last case ( X2 12 XY
M) is the exact duplicate of the first case (P T2 K21 1212 mw ®iw 23). However, according to X1°27, the last case is
different from the previous three cases (for neither have oMW N1 and only the P31 has M79% nwA).

? According to YXw this is referring where only the pr3 had permission to be there, and not the p>1n.

* The xn»72 is stating that there are four rules; (the middle) two according to everyone the first according to v" and
the last according to the 1127. Rule # 1 and # 4 are discussing the same case; # 1 is according to v"1 and # 4
according to the 7127.

5 The fact that the »11 has no 2 MY MwA in the 731 does not diminish its status as a IR 77W.

% See previous X 7"7 MmooIN footnote # 2.

7 See ‘Thinking it over’.

1

TosfosInEnglish.com



R a"7T 'O R, P"2.7"02

it is considered as if he damaged him in the 2'"719 (and pays only a 1), this we

know from the third case of I¥PamY 19BN XM where it states that a on pays a 1'M.
Therefore the X713 asks that there are only three cases, not four.

SUMMARY

It is necessary to cite the fourth case according to 2Xmw to reject the opinion of
v"9; however (according to X1°27) the rules of the fourth case can be derived from
the previous cases.

THINKING IT OVER

mooIn claims that we can derive the fourth case (according to ¥1°27) concerning
1P from the (third) case of Pomws 1x¥n.® Seemingly they are not the same.” moon
taught us that the case of X1°27is in a situation where 2 MW? 712 XY 717 X7; how is
that similar to a AyP2am oMW xn, where both have mwa?! Perhaps only 9xn
oMW is considered 2"7172 17 because they both have mw=, however by X1 715 &9
712 where neither have mwA it is not considered 1" w1

¥ See footnote # 7.

? According to our X073 (the X073 of *"wA) that we are discussing 2w 7121 712, the question is readily understood;
however it is difficult according to N19010 N0

10 See "2 ,7"210 ,n"M3,X%%pN MR 1" w1 ,on AT '0na X',
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